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QUESTION 1

Service A is invoked by Desktop Application A, which requests a data value from Service A. In order for Service A to
retrieve this data value, it must invoke Service B, which retrieves the value from Database A. Which participant(s) in this
scenario are considered service consumers? SELECT ALL THAT APPLY

A. Service A

B. Service B

C. Desktop Application A

D. Database A

Correct Answer: AC

QUESTION 2

Below are four statements about business and technology alignment, as it pertains to service-oriented computing.
Which of these statements is false?

A. Business and technology alignment represents the extent to which an IT enterprise and its automated systems can
mirror and evolve in alignment with the business.

B. Service-oriented computing promotes the abstraction and accurate encapsulation and expression of business logic in
services. This supports business and technology alignment.

C. The pursuit of business and technology alignment can be supported by the collaboration of business analysts and
technology experts during analysis and modeling phases.

D. In order for an IT enterprise to increase business and technology alignment, its business analysts must become more
technical and assume the responsibilities of technology experts so that they can independently design quality business
services that take both business and technology considerations into account.

Correct Answer: D

QUESTION 3

Which of the following statements is false?

A. A service is a unit of logic to which service-orientation has been applied to a meaningful extent.
B. Services are designed to increase the need for integration.

C. Services are the fundamental building blocks of service-oriented solutions.

D. A service composition is comprised of services.

Correct Answer: B
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QUESTION 4

The ROI (return on investment) potential of services is increased by:
A. increasing the amount of agnostic services within an inventory

B. increasing the amount of non-agnostic services within an inventory
C. increasing the amount of legacy systems within an enterprise

D. decreasing the scope of a service inventory

Correct Answer: A

]

QUESTION 5

Service-oriented analysis and service-oriented design are typical phases of an SOA delivery lifecycle.
A. True

B. False

Correct Answer: A
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